Efficiency vs dr

o 0.05—
S I
@.0455
20.04[ |
c r

Q o

®.035F:
= o :
©0.03fHH:

0.025
0.02

0.015}
0.0
0.0054

Ratio

DQM_mkFit_new

—— DQM_mkFit_newANDPL

1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |

§0.02

20.018F
E E
1.016f
9.014F
> C
9.012F
o r
o

2 0.01F
() r
0.008F
0.006F
0.004F

0.002

1073 1072

-1

1
AR(TP, jét)

Efficiency vs pu

50.02
o
9.018
d.016
(]
®.014
=
%.012

0.00F e
0.008f--
0.006F
0.004F
0.002F

LA

Ratio

0.95

Rvs)

iy

T

d')

2 4 6 8 10 12 14 16 18 20
Pileup



	Contents
	Page 1


